1.361557e-27

-@- \verb|HLT_part, Z0-sig0.110
-@- \verb|HLT_part. Z0-sig0.110

-@- \verb|HLT_part. Z0-sig0.110

5.928681e-28 -

D00-alpha-1.99
D00-alpha0.00|
D00-alpha2.00|

-1.758210e-28 1

\verb|rho-th5|

-9.445101e-28 1

-1.713199e-27

1.2

-0.6
\verb|log10(A/A0)_ref|

0.0




6.791670e-28

-@- \verb|HLT_part, Z0-sig0.130
-@- \verb|HLT_part, Z0-sig0.130
-@- \verb|HLT_part, Z0-sig0.130

2.961141e-28 A

D00-alpha-1.99
D00-alpha0.00|
D00-alpha2.00|

—-8.693872e-29 1

\verb|rho-th5|

-4.699916e-28 4

—-8.530444e-28 -+

1.2

-0.6
\verb|log10(A/A0)_ref|

0.0




7 R1RO0R70-2R

-@- \verb|HLT part_Z0-sig0.500000-alpha-1.99| o
-8~ \verb|HLT_part_Z0-sig0.500000-alpha0.00|
-@- \verb|HLT_part_Z0-sig0.500000—-alpha2;00|
4.155086e-26
(0]
= )\
=
5 t 4
£ 6.932046e-27 - P!
=) Z
o s
=2
-2.768677e-26 -
-6.230558e-26 T T T T T
-1.2 -0.9 -0.6 -0.3 0.0

\verb|log10(A/A0)_ref|




